o l/agdo/ds [Ge]
o o o
= = =
S (@) (00]

o
=
N

0.01

0.008

0.006

0.004

0.002

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets
T T T T T I L T T T T T M0
I — &
- Filtered jet mass(CA(1.2), 400< p_< 500, |y| < 2.0) 12
C =
— m ATLAS 1
5 Pythia 6.428 346 Hni
__ Pythia 6.428 347 =
B Pythia 6.428 348 15
B Pythia 6.428 349 13
— —A— Pythia 6.428 370 —&
- 1o
- 1™
— I
B mk;
- e 18
g —
- —=
N %2
B |,
— s
§ 1<
- 1o
o -8
I — 0
- 42
| _|1 o
4 (@]
I O S S S R S b
— —2
A 1
| —0.5

Jet mass [GeV]



	Contents
	Page 1


